Unit Thirteen
Out of control

13.1 Dialogue.

A. ni 2o &" 2aw k¥ecnox™ ‘Did you see Mary?
o Mary?
B. ni con 2ow palqnox™ ?al. ‘I just caught a glimpse of her.’
nacim ? “Why’
A. Alith ni 2ow snefa¢ ?al. ‘She’s really upset.’
ni 2ok¥nox"as 1o §x“tolélas. ‘She lost her purse.’
?i geyoas cqew. ‘She just got paid.’
B. ?a... Alih qal. ‘That’s too bad.’
ya:0 20w mémoalgnamaot. ‘She’s always forgetting.’
ni 2o Aow 2ok"nom k*02 “Yesterday her keys got
laloklis ?ok"ana? ¢aléqgat. lost, too.’

13.2 Vocabulary: verbs with -nax".

k¥ecnoax™ ‘see him/her/it’

k"onnox" ‘grab him/her/it’, ‘catch up to him/her/it’,
‘get him/her/it’

paldnox™ ‘glance at him/her/it’, ‘glimpse him/her/it’

tolnox™ ‘learn it’

k"asnox" ‘burn it accidentally (live thing)’

yoq“nax" ‘burn it accidentally’

lak"nax" ‘break it’

k"alnax" ‘spill it’

q“aq"“nax" ‘club him/her/it accidentally’

Boynox™ ‘manage to repair/fix it’



xla¢nax™ ‘manage to roll it over’

oq“nox" ‘splash it’, ‘get it wet’
Xaqnax™ ‘scratch him/her/it accidentally’
sagqnax"” ‘tear it accidentally’

qanax" ‘put it in accidentally’
20k"nox" “lose him/her/it’

Xotnox" ‘hurt him/her accidentally’

13.3 Two types of transitives.
In Units Ten and Eleven, transitive verbs formed with -t were discussed. This unit

shows examples of transitive verbs formed with the suffix -n. This suffix appears

as -nax™ when there is a third person object. The transitive suffix -t expresses the
notion of “control”, that is that an action was done intentionally. The transitive
suffix -n expresses the notion of “out-of-control”, that is that an action was done

unintentionally, accidentally, or with great difficulty. Compare the following pairs
of sentences.

ni con k™ecat s steni?. ‘T looked at the woman.’

ni con k“ecnax™ 0o sleni?. ‘T saw the woman.’

ni con sqet. ‘I tore it (on purpose).’

ni con sagnax™. ‘I tore it (unintentionally).’

ni con q“aq*“at k"6a ‘T clubbed the man with the
swayge? 22 k"0s sqamal. paddle (on purpose).’

ni con q“aq"nax™ k"9 ‘I (accidentally) clubbed the
swayqe? 2o k"0a sqamsal. man with the paddle.’

ni k“onoatos. ‘He took it.’



ni k"onnax"os. ‘He grabbed it.”/*He managed to get ahold
ofit.’

ni con k"aloxt k02 ‘I shot the bear.’
spe?eb.
ni con k"sloxnax"™ k"0a ‘I managed to shoot the bear.’

spe?e0.
13.4 Pattern practice.

I saw the canoe. ni con k"ecnax® k"0s snox“ol.
spilled
repaired
rolled over
scratched
lost
grabbed
13.5 Pattern practice.

Did you accidentally hit ni 29 ¢x" q"aq"nax" k69
the man? swayqe??

splash
hurt

see
scratch
burn
glance at

13.6 The out-of-control paradigm.
Just like other transitive verb forms, the out-of-control transitive can be followed
by object and passive suffixes.

k“ecnamx ‘see me’
k“ecnama ‘see you’

k¥ecnalx" ‘see us’



k“ecnals ‘see you (pl)’

k¥ecnax" ‘see him/her/it/them’

ni k%ecnélom. ‘T was seen.’

ni kWecna:m. ‘You were seen.’

ni k¥ecnalom. “Wel/you (pl) were seen.’
ni k"ecnam. ‘He/she/it was seen.’

13.7 Pattern practice.

My coat was found. ni k"annam k"6a noa kopt.

torn

fixed

lost

put in with them
got wet

burned

13.8 Substitution drill.

She got her daughter. ni k"annax"as 1o manas.
I: you

we: you (pl)

he: me

I: the woman

the man: us

you (pl): Mary

13.9 Substitution drill.

I was hurt by the dog. ni Xolnelom ?9 k"o sqwaméy.

you: by the dog
we: by the dog
John: by the dog
you (pl): by John



I: by John
the man: the dog

13.10 Out-of-control causatives.
The out-of-control transitive form -n can be used instead of the causative suffix -st

to indicate that an action was caused without control. Compare the control
causatives in the first column with the out-of-control causatives in the second
column.

2itotstox™ 2itotnax™

‘make them sleep’ ‘manage to get them to sleep’
?imoxstox" ?imoxnax”

‘make them walk’ ‘manage to get them to walk’
2onax"'stox"” ?onax"nax"”

‘stop them’ ‘manage to get them to stop’

13.11 Pattern practice.

I managed to stop ni con ?onax"nax” k0o

the children. ste?ex"al.

take the children for a walk
make the children sit down
quiet the children down
put the children to sleep
get the children to work
get the children to run



13.12 -ndmat ‘manage to’.
The reflexive suffix -0at is used when the action is done on purpose. The reflexive

suffix -ndmot is used when the action is out of control.

k"aolox0at k"aloxnamot

‘shoot oneself (on purpose)’ ‘shoot oneself (accidentally)’

qa?0ot qanamat

‘join’ ‘manage to join’

(‘get oneself in with them”) (‘manage to get oneself in with them”)

When the out-of-control reflexive is suffixed to an intransitive verb, it takes on the
meaning ‘manage to do something’.

?itotnamot ‘manage to sleep’
?ottonnamot ‘manage to eat’
ya:ysnamaot ‘manage to work’

13.13 What do these words mean?

?onox“namot
tak"namot
pak*“namot
nagomnamsat
xaq“9lnamat
tecolnamot
tosnamot

lomcéelsnamot



13.14 Pattern practice.

Did you manage to sleep? ni 29 ¢x" ?itotnamot?

run
call

dance

sing

listen

speak

sit down

stand

go up the mountain
go down to the beach

13.15 Translation.

1. ni 20k"nax“as k"0s Iakli.

2. ni ct Baynax” to puk™.

3. ni 22 loq"nd:m 2?2 A John?

4. ni tilomnax“as k¥0s swa:wlos.

5. ni 2o k"atnam k"0 snox"ol?

6. Did you catch a glimpse of the bear?

7. Taccidentally got clubbed by John.



8. We got the baby to sleep.

9. Taccidentally ripped my dress.

10. Did you (pl) get the children to stop?

13.16 Reading lesson.

?a... si2érh, 21 20 &x™ 2ow 20y ?al? ?2i &x™ tecslndmsat. ni yox* Osynam
ton snox“al. nan 2ow wat hi:6 k"onos k¥ecnamo. ?imox! i ¢x* ce?
k"atwilom. ni 2o &™ 2ow 2omatnamsat ?al 2i 2o ti?i? 2o¥. pek™at con ce?

k" tih. tow yo?olton ¢x¥ ce?.

English translation:



k" eco04ls con ce? 20w weyalos.
‘I’ll see you (pl) tomorrow.’

k¥ecnamo con ce? 29 kW ?2ow tomtém ?al.
‘I’1l see you sometime.’




